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Question Id : 92090625105 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

= faw 7u veriy @) vge FafafE udl & s o

wila SRR ST g, 81 Sl Uy W A Fel,

e uir g1, Tl \ivd, 7d o d 1 @ @ el
ST8-a1 gU-gWE To0d, YHE Tadl Uy $1 TS
forg-f59 9 oy W Eg fien, 39-39 U8 & 44dre|

il I aaitad S, od Iad-aad IR 85,

gl Vg-vs iy 7, firell 19 Wi, y@mae R eS|
Uy & UgdH §e T, U WIY-91Y 9d W are-
forg-ford | uy 9R g fien, 39-39 et &1 ygdc|

Sl 91y 9 T € U, 3914 e YAl g3 STR?

# ot = = afe ot off &, I8 TR Afe I8 S|
S U4 R A g1 Iod 3, S goH &1 U1 T 61e
fory-fore @ oy Wy Wg firan, 39-39 W6l & 4drg|

Sub questions

Question Number : 1 Question Id : 92090625106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR & STYR WX {74 wag] &1 Wel e @y -

A, &pfd
B. WHE
C. UgdEH
D. WUdlg
E. g

+r fau e fasedi # | 98l IR &1 99 Hifoe :

(1) A,BCD,E
(2 BDACE
(3) EDACB
4 BDCAE

Options :

92090699201. 1
92090699202. 2
92090699203. 3
92090699204. 4

Question Number : 2 Question Id : 92090625107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'HRRR' g &1 faad| g -

(1) AS-HF HHAT (2) SrER™
3 R 4) g
Options :

92090699205. 1
92090699206. 2
92090699207. 3
92090699208. 4

Question Number : 3 Question Id : 92090625108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g’ Ve B yaigarE § -

(1) Gl (2) HMAl
3) @ @ I
Options :

92090699209. 1
92090699210. 2
92090699211. 3
92090699212. 4

Question Number : 4 Question Id : 92090625109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G WY A ¢ I U FugeR s gR -

(1) el (2) Tty
(3) uffed (@) HTEE
Options :

92090699213. 1
92090699214. 2
92090699215. 3
92090699216. 4

Question Number : 5 Question Id : 92090625110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR U=l &1 Side g -

(1) SnuEE (2) UY B YIS
(3) fog-fo 8oy w e e @) Ty H el
Options :

92090699217. 1
92090699218. 2
92090699219. 3
92090699220. 4

Question Id : 92090625105 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension

9 Ru g weriw @t vee Prafaf@ vl & sw e
wila SRR ST g, 81 Sl Uy W A Fel,
e uir g1, Tl \ivd, 7d o d 1 @ @ el
IE-aT8 YE-gE Teold, THIE Fedl Uy & UuTE
forg-f59 9 oy W Eg fien, 39-39 U8 & 44dre|
il I aaitad S, od Iad-aad IR 85,
&l Vig-veg i 11, fivelt 4a Wi, ydiae R ES)
Uy & UgdH §e T, U WIY-91Y 9d W are-
forg-forg ¥ gy o g e, 39-39 el &1 4gdig |
Sl 91y 9 T € U, 3914 e YAl g3 STR?
# ot = = afe ot off &, I8 TR Afe I8 S|
S U4 R A g1 Iod 3, S goH &1 U1 T 61e
fory-fore @ oy Wy Wg firan, 39-39 W6l & 4drg|

Sub questions

Question Number : 1 Question Id : 92090625106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR & STYR WX {74 wag] &1 Wel e @y -

A, &pfd
B. WHE
C. UgdEH
D. WUdlg
E. g

+r fau e fasedi # | 98l IR &1 99 Hifoe :

(1) A,BCD,E
(2 BDACE
(3) EDACB
4 BDCAE

Options :

92090699201. 1
92090699202. 2
92090699203. 3
92090699204. 4

Question Number : 2 Question Id : 92090625107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'HRRR' g &1 faad| g -

(1) AS-HF HHAT (2) SrER™
3 R 4) g
Options :

92090699205. 1
92090699206. 2
92090699207. 3
92090699208. 4

Question Number : 3 Question Id : 92090625108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g’ Ve B yaigarE § -

(1) Gl (2) HMAl
3) @ @ I
Options :

92090699209. 1
92090699210. 2
92090699211. 3
92090699212. 4

Question Number : 4 Question Id : 92090625109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY F 3 IF AU Iugert wea g -

(1) el (2) ario
(3) uRfed (4) HTEE
Options :

92090699213. 1
92090699214. 2
92090699215. 3
92090699216. 4

Question Number : 5 Question Id : 92090625110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR U=l &1 Side g -

(1) SnuEE (2) UY B YIS
(3) fog-fo 8oy w e e @) Ty H el
Options :

92090699217. 1

92090699218. 2

92090699219. 3

92090699220. 4

Sub-Section Number : 2
Sub-Section Id : 920906808
Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 92090625111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Hdd B BIH-91 U Ggad g3 &7

(1) offd (2) ™
3) 3 (4) 9@
Options :

92090699221. 1
92090699222. 2
92090699223. 3
92090699224. 4

Question Number : 6 Question Id : 92090625111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Hdd B BIH-91 U Ggad g3 &7

(1) offd (2) ™
(3) o (4) fck
Options :

92090699221. 1
92090699222. 2
92090699223. 3
92090699224. 4

Question Number : 7 Question Id : 92090625112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"3RI 1 A P 4 Ueg 87

(1) S (2) YdIdd
(3) HHH (4) S@F
Options :

92090699225. 1



92090699226. 2
92090699227. 3
92090699228. 4

Question Number : 7 Question Id : 92090625112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI 1 fady S 91 I8 82

(1) 3 (2) ORI
(3) HHH 4) 3@
Options :

92090699225. 1
92090699226. 2
92090699227. 3
92090699228. 4

Question Number : 8 Question Id : 92090625113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafaf@d 7 A IeTaT Heret &1 ug il @ -

(1) 3| & (2) <l R
(3) e @eH (4) 99O HIAT
Options :

92090699229. 1
92090699230. 2
92090699231. 3
92090699232. 4

Question Number : 8 Question Id : 92090625113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrfafad # 2 IaTaaT qeraR 1 uel 2 ¢ -

(1) 3OHIAT & (2) <l R
(3) T @A (4) SO HAT



Options :

92090699229. 1
92090699230. 2
92090699231. 3
92090699232. 4

Question Number : 9 Question Id : 92090625114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S W U ‘Uda &1 g 8z

1y 94 2 ™
3) @H 4) faeu
Options :

92090699233. 1
92090699234. 2
92090699235. 3
92090699236. 4

Question Number : 9 Question Id : 92090625114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P I Ie ‘Udd & FHERT 87

(1) 24 2 "™
3) @H (4) faeu
Options :

92090699233. 1
92090699234. 2
92090699235. 3
92090699236. 4

Question Number : 10 Question Id : 92090625115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrefeafad 7 gg uss g~

A 3BT
B. LN
C. Joodd
D. UH@®R
E. KM

41 fau o fasedi § 9 Wal IR &1 994 Hifers -

(1) &daA DSRE
(2) @adA, B3RC
(3) &das, C3RD
(4) &ddB, D E
Options :

92090699237. 1
92090699238. 2
92090699239. 3
92090699240. 4

Question Number : 10 Question Id : 92090625115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frfafad 7 s e 8-

A SRHHA
B. UNUl
C. Qoudd
D. TYH&GR
E UM

9 fou v foeedi O 9§ 9el ST &1 994 i -

(1) &duA DSIRE
(2) &OuA BSIRC
(3) FdaB, C3RD
(4) &ddB, D E
Options :

92090699237 1
92090699238. 2
92090699239. 3
92090699240. 4

Question Number : 11 Question Id : 92090625116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & (50 Heta Harag 3 20d 360 UIEd @1 Jo3Td Bl 87

(1)  Uded Hare™ (2) Wepia HA@Y
(3)  EY AR HA@Y (4) g "I
Options :

92090699241. 1
92090699242 2
92090699243. 3
92090699244. 4

Question Number : 11 Question Id : 92090625116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR & (50 Heta Harag 3 20d 360 UIEd @1 Jo3Td Bl 87

(1) odes vae™ (2) i HATE
(3)  3E™E AR HATGY (4) g "I
Options :

92090699241. 1
92090699242 2
92090699243. 3
92090699244 4

Question Number : 12 Question Id : 92090625117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MEed 8 Uy 31 Faw Uiarga uold! 87

(1) dHEg (2) ToRId
(3) H¥a (4) fewet
Options :

92090699245. 1
92090699246. 2
92090699247. 3
92090699248. 4

Question Number : 12 Question Id : 92090625117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ISy By Iy BT Fdw Uisared uoiH 87

(1) dHaIg (2) ORI
(3) @ (4) faen
Options :

92090699245. 1
92090699246. 2
92090699247. 3
92090699248. 4



Question Number : 13 Question Id : 92090625118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefad ¥ ¥ #H F9d RER e T8l 82

(1) g R (2) S 94 wA

(3)  SRUIEA (4) ST gl SERfIR HrHT
Options :

92090699249. 1
92090699250. 2
92090699251. 3
92090699252. 4

Question Number : 13 Question Id : 92090625118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefeifad o | & Tiad QR faerdr 78l 82

(1) fdws Ty 2R (2) B9l A

(3) SIS (4) BT GIHI SRR HTHT
Options :

92090699249. 1
92090699250. 2
92090699251. 3
92090699252. 4

Question Number : 14 Question Id : 92090625119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafad o 9 &9 91 39 G 20' 1 955 781 7

(1) HRd (2) Hura
(3 dM (4) U9
Options :

92090699253. 1
92090699254. 2
92090699255. 3



92090699256. 4

Question Number : 14 Question Id : 92090625119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafad o 9 &9 91 39 G 20' 1 955 781 7

(1) HRd (2) Hura
(3 =@M (4) TUHT
Options :

92090699253. 1
92090699254. 2
92090699255. 3
92090699256. 4

Question Number : 15 Question Id : 92090625120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 1y = 11 & e S

-l (4 UPR) T -l FUSER)
(A)  HRTACOH () HH "ERE
(B) HUD () Squf 2dt
(C) =gt () o HeR
(D) sifsHl (V) g Tt

i fau v famedi & | 9el I &1 994 P

(1) (A-am), B)-(n, (O, (D)-(IV)

(2) (A0, B)-(l), (O-(IV), (D)-()

(3)  (A-(, (B)-(11D), (O)-(1), (D)-(IV)
(

)-
(4) (A=), (B)-(In), (O-(), (D)-(IV)

Options :

92090699257. 1
92090699258. 2
92090699259. 3
92090699260. 4



Question Number : 15 Question Id : 92090625120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | & |y gdl | & e S

-1 (78 JPR) Tl -1 (@R
(A)  HRTACIH () EET HERE
(B) HYUD () el &dt
(€ Pl () faRy HER
(D) ShfSH (v) T ¥t

912 fau ne fawedl § | TEl I &1 909 SIS
(1) (@)=, (B)-(11), (C)-(), (D)-(V)
(2) (A, (B)-(IIN), (C)-(1V), (D)-(1)
(3)  (A)-(D, (B)=(Il1), (C)-(1), (D)-(IV)
(4) (A0, (B)-(11), (C)-(II), (D)-(IV)

Options :

92090699257. 1
92090699258. 2
92090699259. 3
92090699260. 4

Question Number : 16 Question Id : 92090625121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% a9 ‘Bie’ § BROTHER &1 EQRSKDU fo/ar @ €, @1 RECENT &1 39 &I | &y foran
aTa?

(1) UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090699261. 1
92090699262. 2
92090699263. 3
92090699264. 4

Question Number : 16 Question Id : 92090625121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

% a9 ‘Bie’ § BROTHER &1 EQRSKDU fo/ar @ €, @1 RECENT &1 39 &I | &y foran
aTa?

(1) UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090699261. 1
92090699262. 2
92090699263. 3
92090699264. 4

Question Number : 17 Question Id : 92090625122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fé e wg # vEr wes g S gudd 4 fiE gl

(1) IHMES (2) 3fThfed e
(3) f%efd (4) U=
Options :

92090699265. 1
92090699266. 2
92090699267. 3
92090699268. 4

Question Number : 17 Question Id : 92090625122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 7T g § T s g o IR 9 A gl

(1) TGS (2) Sfidfed ed
(3) ofeRa 4) dfEeq
Options :

92090699265. 1
92090699266. 2
92090699267. 3



92090699268. 4

Question Number : 18 Question Id : 92090625123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o: Telodl e, §191, a1, Sfde, ST SiR BIelHl U tidd H 3R 1 iR Hg & aa!
€1 I Sfae & e | 2 981 € S [ wed g1fgs RR R 31 1 S o SiR Ia71 &
i H €1 31 BIEH! SR Sfde1 & avra § A1g1 dal g1 i1 Bl SR &fde1 & &g 7 g1
1 & B g 1 82

(1) o1 (2) =a-
(3) 3R (4) I
Options :

92090699269. 1
92090699270. 2
92090699271. 3
92090699272. 4

Question Number : 18 Question Id : 92090625123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o: Telodl ey, 141, a1, Sfde, 3T SfR BIelHl U tidd H IR &1 3R Hg Hd aa1
€1 a1 a1 & 7 | el 981 € o b e aife R uR 931 81 3iran st SiR a1 6
i H €1 31 BIEH! SR Sfde1 & avra § A1g1 dal g1 i1 Bl SR &fde1 & &g 7 g1
1 & B g 1 82

(1) o1 (2) =a-
(3) 3R (4) I
Options :

92090699269. 1
92090699270. 2
92090699271. 3
92090699272. 4

Question Number : 19 Question Id : 92090625124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1296, 648, 216, 108, 36, ........... H STl T&=1 1 gHil?

(1) 18 (2) 16
(3) 14 4) 12
Options :

92090699273. 1
92090699274. 2
92090699275. 3
92090699276. 4

Question Number : 19 Question Id : 92090625124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 1296, 648, 216, 108, 36, .......... H ST T=AT 1 gHHI
(1) 18 (20 16

(3) 14 4) 12
Options :

92090699273. 1
92090699274. 2
92090699275. 3
92090699276. 4

Question Number : 20 Question Id : 92090625125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE @1 UF vfed H faoy &1 wH ufdd & 98 R A 16 ™A R 8| a9y &1 wE ufda &
a1fe R & 2641 81 dfda & B3 &1 $a e F1d Fifen|

(1) 42 (2) 43
(3} 44 (4) 45
Options :

92090699277. 1
92090699278. 2
92090699279. 3
92090699280. 4



Question Number : 20 Question Id : 92090625125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S B Us dfad H ooy &1 ®F fdd & a8 R ¥ 16 d ®H R ¢ | oy &1 ®F ufdd &
alfed R 9 2641 ¢ | dfda & o141 &1 $a 9= 91d Sifog|

(1) 42 (2) 43
(3} 44 (4) 45
Options :

92090699277. 1
92090699278. 2
92090699279. 3
92090699280. 4

Question Number : 21 Question Id : 92090625126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

220l i s T 54 FFd F A A Wi SR A g pAA S a A s W@
s Afdd &1 UR F J 34 a1 99g awm?

(1) 308de (2) 20TFHe
(3) 259&HS 4) 22Tde
Options :

92090699281. 1
92090699282. 2
92090699283. 3
92090699284. 4

Question Number : 21 Question Id : 92090625126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

220 Hiex @il Ud ¢ 54 [d Sl i Y Srs W g1 S R A g A st o A drs 2@
Us fad ®1 IR & H 54 fdsd=1 999 @R

(1) 309Hs (2) 20¥UFs
(3) 254°&HS (4) 22Tds

Options :



92090699281. 1
92090699282. 2
92090699283. 3
92090699284. 4

Question Number : 22 Question Id : 92090625127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HOH & & W, U 94 & YR 416l R $ol YA ayl &1 a1 & dehdie orel IR $d
Y=RIRT (TSeh ST UR) &1 S{[UTd 3 : 4 §| O s4TS 3 b1 HIF &1 gHII?

(1) 15% % @ 20%
3) 33;— % @ 30%
Options :

92090699285. 1
92090699286. 2
92090699287. 3
92090699288. 4

Question Number : 22 Question Id : 92090625127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HOH & & W, U 94 & YR 416l R $ol YA ayl &1 a1 & dehdie orel IR $d
Y=RIRT (TSeh ST UR) &1 S{[UTd 3 : 4 §| O s4TS 3 b1 HIF &1 gHII?

(1) 15% % @ 20%
3) 33;— % @ 30%
Options :

92090699285. 1
92090699286. 2
92090699287. 3
92090699288. 4

Question Number : 23 Question Id : 92090625128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A 3R B & Wda 92N § o fb P{AuE}:% 3R P[E):% dl P(A) BTHA &

3
(1) 2 (2)

1
(3) e 4)

talta wh|ds

Options :

92090699289. 1
92090699290. 2
92090699291. 3
92090699292. 4

Question Number : 23 Question Id : 92090625128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 9IR B 2w ge E I B P(4UB)- I IR P[E}:% il P(A) B1THA &
3 4

(1) g (2) =
! 3

(3) 5 (4) 5

Options :

92090699289. 1
92090699290. 2
92090699291. 3
92090699292. 4

Question Number : 24 Question Id : 92090625129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afg 3x+4y =60 3R 4x+3y =59, T x+y B HHA RGN

(1) 17 (2) 15
(3) 16 (4) 18

Options :



92090699293. 1
92090699294. 2
92090699295. 3
92090699296. 4

Question Number : 24 Question Id : 92090625129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ofg 3x+4y =60 3R 4x+3y =59, Tl x+y &I {1 g2

(1) 17 (2)y 15
(3) 16 (4) 18

Options :

92090699293. 1
92090699294. 2
92090699295. 3
92090699296. 4

Question Number : 25 Question Id : 92090625130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 39 a@H sl & dod B Hals U HIYR & A § W g, ogd ¥ HiEsad I
TR &1 UF Tl Hled Hard fom S g1 39 uisan § oud aes! &1 ufawd fa g2

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090699297. 1
92090699298. 2
92090699299. 3
92090699300. 4

Question Number : 25 Question Id : 92090625130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 3T AP Sl & a0 B Hals 3UE YR P A F R ¢, ogd I g HIad
PR BT UF Ml BIed Fard fod a1 g1 39 Ui § o0 aes! &1 ufawd faean g2

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090699297. 1
92090699298. 2
92090699299. 3
92090699300. 4

Part B: Textile Engineering

Section Id : 920906498
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : |
Sub-Section Id : 920906809
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090625131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The incorrect statement amongst the following 1s
1. Jute is multi-cellular fabric
2. Caprolactum 15 the raw material for nylon.
3. The density of PET is more than that of cotton
4. Wool and silk are natural polyamide fabrics

Options :

92090699301. 1
92090699302. 2
92090699303. 3



92090699304. 4

Question Number : 26 Question Id : 92090625131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Faffea 4 Tod puA 8

1. ¢ U 95 IS W B
2. BUIdECH AFa 6 & ot saispd Inell/@ss Aie 8|
3. PET @1 U-cd HUR/Hd & I Sifee gidl 2|

4. & 3R YW Uipfas didiuAEs 39§

Options :

92090699301. 1
92090699302. 2
92090699303. 3
92090699304. 4

Question Number : 27 Question Id : 92090625132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following fabric is the most resistant to be attacked by
microorganisms?
1. Cotton
Wool
Jute
Aervhe

N

Options :

92090699305. 1
92090699306. 2
92090699307. 3
92090699308. 4

Question Number : 27 Question Id : 92090625132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafefad & 9 S1H-91 320 (B1EER) eroial gRI g P e gad st
gfaRieh & :

1. HUR/Yd

2. B

3. §¢
4. Ulidhferd

Options :

92090699305. 1
92090699306. 2
92090699307. 3
92090699308. 4

Question Number : 28 Question Id : 92090625133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following fabric can be produced using melt-spinning
technology?

1. Viscose

2. Poly (acrylonitrile)

3. Lyocell

4. Tencel

Options :

92090699309. 1
92090699310. 2
92090699311. 3
92090699312. 4

Question Number : 28 Question Id : 92090625133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafaiaa # 9 59 W &1 Aee [ @am) Uit § A g o g

87
1. fowpe
2. Uil (UihdAEeEa)
3. OENd
4. ¢

Options :



92090699309. 1
92090699310. 2
92090699311. 3
92090699312. 4

Question Number : 29 Question Id : 92090625134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable thickness for reactive dye printing on cotton is
1. Sodium alginate
2. Starch
3. Carboxy methyl cellulose
4. Gum Indalea

Options :

92090699313. 1
92090699314. 2
92090699315. 3
92090699316. 4

Question Number : 29 Question Id : 92090625134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYN/d W AHfareid Ios SurR & U 96l Iugdd /s (UaR) §
1. Hifgad telHe
2. wH
3. Praied A S
4. TH =TSG!

Options :

92090699313. 1
92090699314. 2
92090699315. 3
92090699316. 4

Question Number : 30 Question Id : 92090625135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concentration (%) of mercerizing caustic solution is in the range of
1. 5-10
2. 11-15
3. 21-25
4. 16-20

Options :

92090699317. 1
92090699318. 2
92090699319. 3
92090699320. 4

Question Number : 30 Question Id : 92090625135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R R R CARY| (mercerizing) PIRCP IS B Argdl (%) _%Wﬁ@?ﬁ% :
1. 5-10

2. 11-15
3. 21-25
4. 16-20

Options :

92090699317. 1
92090699318. 2
92090699319. 3
92090699320. 4

Question Number : 31 Question Id : 92090625136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil release finishers are the most effective on
1. Cotton
2. tl ute
3. Viscose
4. Polyester

Options :

92090699321. 1
92090699322. 2
92090699323. 3



92090699324. 4

Question Number : 31 Question Id : 92090625136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el gidd URSHRS (soil release finish) & 3fftia wyrd! gidl &
1. BUR/d
2. ¢
3. fawprg
4, UrefieEey

Options :

92090699321. 1
92090699322. 2
92090699323. 3
92090699324. 4

Question Number : 32 Question Id : 92090625137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the machine that works on the principle of both tabre & liquor
moving during the dyeing process in machine

1. Jigger dyeing

2. Jet dyeing machine
3. Beam dyeing machine (NTNP)
4. Padding mangle

Options :

92090699325. 1
92090699326. 2
92090699327. 3
92090699328. 4

Question Number : 32 Question Id : 92090625137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I I &1 Ugai-e, S geiF # T &1 Ulhl & SR a%d 3R §d 4 &1
T & fgid W & #3d 8
1. PR g AYA
2. We Tmg weia
3. o1 BET (E8 o) AYH (NTHP)
4. UfEn A
Options :
92090699325. 1
92090699326. 2

92090699327. 3
92090699328. 4

Question Number : 33 Question Id : 92090625138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For transfer printing of polvester, disperse dyes should have
1. Low Sublimation fastness
2. High Sublimation fastness
3. Water solubility
4. High hydrophilicity

Options :

92090699329. 1
92090699330. 2
92090699331. 3
92090699332. 4

Question Number : 33 Question Id : 92090625138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OIeuEeR &1 RIMidR Bl (¢ we fHifen) & o ufiféng o® gl
H1feu|
1. 3 FHEUGH UHd] (G0 BRETH)
2. 3= U sl
3. W faagdr
4. I SR
Options :
92090699329. 1
92090699330. 2



92090699331. 3
92090699332. 4

Question Number : 34 Question Id : 92090625139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mixture of titanium chloride and antimony oxide 1s used for producing
flame retardant cotton. Flame retardancy is primarily obtained by

1. Titanium Chloride

2. Antimony oxide

3. None of them, but their reaction product

4. Both; the mixture is synergistic

Options :

92090699333. 1
92090699334. 2
92090699335. 3
92090699336. 4

Question Number : 34 Question Id : 92090625139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1l Hed gd Ffifa A & o egefam warEs ¢k e silags &
o301 &1 IugiT far ST 8| Sare Hedhdl wiuie 4 3 Ui
g g

1. TRef-aH

2. UHAT HRES

3. AN AP A b 39 HHfehar I

4. 2, foryor drrardl gar g

Options :

92090699333. 1
92090699334. 2
92090699335. 3
92090699336. 4

Question Number : 35 Question Id : 92090625140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wash-n-Wear finishing is carried out on cotton to improve
1. Crease resistant
2. Fabric feel
3. Abrasion resistant
4. To improve comfort

Options :

92090699337. 1
92090699338. 2
92090699339. 3
92090699340. 4

Question Number : 35 Question Id : 92090625140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il o H a1 oS v uRepla @l ¥R a9 & o 1 ot 21
1. shlsl/gac Qe
2. Bigsd wid
3. ey A
4. P s

Options :

92090699337. 1
92090699338. 2
92090699339. 3
92090699340. 4

Question Number : 36 Question Id : 92090625141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The eationie dyes are commonly applied on
1. Cotton

Nylon

Polyester

Acrylic

o

Options :

92090699341. 1
92090699342. 2
92090699343. 3
92090699344. 4



Question Number : 36 Question Id : 92090625141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T IS1 BT IULNT IH: R 541 S §
1. ol 9%
2. AZAA
3. Yoy
4. Ufthfars

Options :

92090699341. 1
92090699342. 2
92090699343. 3
92090699344. 4

Question Number : 37 Question Id : 92090625142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lyocel is a
1. Protein fahric
2. Polyamide fabric
3. Aecrylic fabric
4. Cellulosic fabrie

Options :

92090699345. 1
92090699346. 2
92090699347. 3
92090699348. 4

Question Number : 37 Question Id : 92090625142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wﬁ]ﬁﬁﬂﬁﬁ:
1. U
2. URICATES =1
3. Ufthfers =
4. Sqar =

Options :

92090699345. 1
92090699346. 2
92090699347. 3
92090699348. 4

Question Number : 38 Question Id : 92090625143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Absorption of light in UV region and reflection of light in visible region is
the phenomenon associated with

1. Vat dyes

2. Solubilised vat dyes

3. Optical brightening agent

4. Bleaching agent

Options :

92090699349. 1
92090699350. 2
92090699351. 3
92090699352. 4

Question Number : 38 Question Id : 92090625143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UV &3 H U1 T SN 3R T &5 T b1 &1 WIdd- A et
giEer g :

1. 4 P

2. faedigd deis

3. SHiPPa sl @i THEH) FHE

4, AleF oHS

Options :
92090699349. 1



92090699350. 2
92090699351. 3
92090699352. 4

Question Number : 39 Question Id : 92090625144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relationship between dve concentration i fabric (mole/kg) and dye
concerntration in solution (mole/L) at equilibrium at a given temperature
15 used for the termination of

1. Dye affinity

2. Diffusion coefficient

3. Heat of dyeing

4. Entropy of dveing

Options :

92090699353. 1
92090699354. 2
92090699355. 3
92090699356. 4

Question Number : 39 Question Id : 92090625144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 7T A OR, 9 7 3 H I9 Frdl (mole/kg) SR A 7 o
Higdl (mole/L) T IUTR] & e ¥ fear o g -

1. ol FEdl

2. fawRor Ui

3. TG & FH

4. ToH BT

Options :

92090699353. 1
92090699354. 2
92090699355. 3
92090699356. 4

Question Number : 40 Question Id : 92090625145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Melting point (Tm) of PET is
1. Moare than that of Acryhic
2. More than that of Polyethylene
3. Less than that of Polyethylene
4. Equal to that of nylon 6

Options :

92090699357. 1
92090699358. 2
92090699359. 3
92090699360. 4

Question Number : 40 Question Id : 92090625145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PET &1 TT&HI® (Tm) & :
1. Ufhfors & Teid 8 Sifvs
2. UIefeE & Tadid 9 s
3. Uit & TeHis J 9
4, A3AH 6 6 AP F SRR

Options :

92090699357 1
92090699358. 2
92090699359. 3
92090699360. 4

Question Number : 41 Question Id : 92090625146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Bombyx mosi silk, 80-85% of fibroin 1s composed of the following
amino acids.

1. Glyecine, Tyrosine and Aspartic acid

2. Serine, Tyrosine and Aspartic acid

3. Glyeine, Alanine and Serine

4. Tyrosine, aspartic used and Serine

Options :

92090699361. 1
92090699362. 2
92090699363. 3



92090699364. 4

Question Number : 41 Question Id : 92090625146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

difraad AR fed (X3 7, 80-85% WISss FafeRad THiAl spdl &1 1
gl g

1. TATSEHE, TEIRiA SR tanfés s

2. U, TTERH oiR twiids ora

3, T, T SR HEE

4, TEINH, tEIes o SR Ui

Options :

92090699361. 1
92090699362. 2
92090699363. 3
92090699364. 4

Question Number : 42 Question Id : 92090625147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ecofriendly bleaching agent used in cotton textile industry 1s
1. Sodium hypo chloride
2. Bleaching powder
3. Sodium Chlorite
4. Hydrogen Peroxide

Options :

92090699365. 1
92090699366. 2
92090699367. 3
92090699368. 4

Question Number : 42 Question Id : 92090625147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il % I | IUGI a1 o aren Uiy fRat @arthad) favead oHe

g
. HIfsgH gRUFRES
. ST g Ey
. HIfgTH wRIES
. ElESreH WHdEs

Options :

92090699365. 1
92090699366. 2
92090699367. 3
92090699368. 4

oW P

Question Number : 43 Question Id : 92090625148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In pigment printing the type of thickness system being preferably used is
1. Oil-in-Water
2. Water-in-Oil
3. Gaurgum
4. Sodium alginate

Options :

92090699369. 1
92090699370. 2
92090699371. 3
92090699372. 4

Question Number : 43 Question Id : 92090625148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qufes BUTs 1 Sifie IuAn iy I ol |E® o (eR Rien) &1 R
. .

. Td-ded (Tge-3H-d1e)

. JTH-Sd (@reR-39-3{15a)

T A

. T
. HITegH Ueaie

Options :



92090699369. 1
92090699370. 2
92090699371. 3
92090699372. 4

Question Number : 44 Question Id : 92090625149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil relax finishers are effective on
1. Cotton
2. Jute
3. Viscose
4. Polyester

Options :

92090699373. 1
92090699374. 2
92090699375. 3
92090699376. 4

Question Number : 44 Question Id : 92090625149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Hidd uRssRa®/Arsd s i R HaY Uy Bl &
1. Yd/Hurd
2. V¢
3. fawpm
4, Yleflueex
Options :
92090699373 1
92090699374. 2

92090699375. 3
92090699376. 4

Question Number : 45 Question Id : 92090625150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chemical suitable for discharge printing is
1. Sodium Sulphexylati Formaldehyde

Hydrogen Peroxide

Titanium dioxide (TiTOs)

Sodium Alginate

.0 1

Options :

92090699377. 1
92090699378. 2
92090699379. 3
92090699380. 4

Question Number : 45 Question Id : 92090625150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oA U (GEe Uit Ffae_ IugmmwEa s
1. OIfsgH YehEide BHlcsess

2. BIESIEH W SiiaTgs
3. RN BE-EEs
4. HITSgA Tesi-e

Options :

92090699377. 1
92090699378. 2
92090699379. 3
92090699380. 4

Question Number : 46 Question Id : 92090625151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The packing coefficient of yarn with (100) fibres, processed by 10%, the
percentage change in the varn diameter will be approximately

1, -4.9
2. 49
3. -16.5
4. -10
Options :

92090699381. 1
92090699382. 2
92090699383. 3



92090699384. 4

Question Number : 46 Question Id : 92090625151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(100) Y2/FBIZER aTd < (@) Ul qulid BT 10% FeT a1 T, 3699 dq &
o J yfagrd uRadF e g

1. -49

2. 49

3. -16.5

4. -10

Options :

92090699381. 1
92090699382. 2
92090699383. 3
92090699384. 4

Question Number : 47 Question Id : 92090625152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The finisher, draw trans machine has input sliver c.v as 2.5 and the
delivered sliver shows the c.v of 3.8, then the c.v added by the draw trans
machine is:
1. 1.85
2. 2.85
3. 85
4. 2.25

Options :

92090699385. 1
92090699386. 2
92090699387. 3
92090699388. 4

Question Number : 47 Question Id : 92090625152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fipfeR o1 28 TefiF &1 37Ye R cv 2.5 § 3R f&fear [ o aren
{eeTaR 3.8 &1 c.v TIAT 8, 1 S -9 | g1 SIS T cv gl
1. 1.85
2. 2.85
3. 35
4. 2.25

Options :

92090699385. 1
92090699386. 2
92090699387. 3
92090699388. 4

Question Number : 48 Question Id : 92090625153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fibre disintigration efficiency on the card increases by increasing
1. Wider setting between the liquor in and eylinder
2. The speed of the cylinder
3. Speed of the Doffer
4. Feed Roller Speed of the feed holler

Options :

92090699389. 1
92090699390. 2
92090699391. 3
92090699392. 4

Question Number : 48 Question Id : 92090625153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTe W I (F13ER) [age gem @] 9gH R 9¢ 9K g
1. 33 P 54 3R fGfersy & &g oif¥e Aers g afén
2. da/fafa= &t i
3. SR & i
4, BIg AR B 71

Options :
92090699389. 1
92090699390. 2



92090699391. 3
92090699392. 4

Question Number : 49 Question Id : 92090625154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amongst the following, select the suitable technology for production of
core spun varn.

Rotor Spinning

M.S Spinning

MVS Spinning

Friction Spinning

o

eI

1o

Options :

92090699393. 1
92090699394. 2
92090699395. 3
92090699396. 4

Question Number : 49 Question Id : 92090625154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR W M (B8 Fad LWy/dd) F Ide & fau Fafafed # 3 Jugs
Urefiiest &1 94 S|

1. ez fufim (qoffem/@ars)

2. MJs /e

3. Mmvs RafH/aga

4. guU HAg

Options :

92090699393. 1
92090699394. 2
92090699395. 3
92090699396. 4

Question Number : 50 Question Id : 92090625155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On increasing varn twist is-case of staple yvarn the strength will.

1. Increase first and then decrease
2. Decrease initially and then increase
3. Strength of yarn is independent on twist
4. Increase proportionally with twist

Options :

92090699397. 1

92090699398. 2

92090699399. 3

92090699400. 4

Question Number : 50 Question Id : 92090625155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wUd g (WG dq) & A J dg &1 UaH B 981 W dg &1 Aidd
1. Ued dgdl ¢, fth & g1 oIl 8
2. Ugd $H gIdl 8, T dg wirell 8
3. dg/ar o ufed T 9 anfad i 8
4. U4 & 1Y AU U 4 dgdl 8

Options :

92090699397. 1
92090699398. 2
92090699399. 3
92090699400. 4

Question Number : 51 Question Id : 92090625156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

105, 205, 305 and 405 NP cotton yarn have the same twist (Turns/m). The
yarn having maximum twist obliquity is

1. 108 NP

2. 305 NP

3. 205 NP

4. 40% and 305 NP

Options :

92090699401. 1
92090699402. 2
92090699403. 3
92090699404. 4



Question Number : 51 Question Id : 92090625156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

105, 205, 30° 3R 40° NP & Hel Y/ H UHgHH U3 @au/He) g
it an Ta fadear ara dq Bl

1. 10° NP

2. 30° NP

3. 20° NP

4. 40° 3R 30° NP

Options :

92090699401. 1
92090699402. 2
92090699403. 3
92090699404. 4

Question Number : 52 Question Id : 92090625157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bobtex yarn is manufactured by using,
1. Ring Spinning Technology
2. Projectile Spinning Technology
3. Friction Spinning Technology
4. Rotor Spinning Technology

Options :

92090699405. 1
92090699406. 2
92090699407. 3
92090699408. 4

Question Number : 52 Question Id : 92090625157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dlgcay G/aH B & IuanT gR1 [Aftfa forar o 8
1. for /e ag9 Uit
2. UeigeRa et uféng T urenfie!
3. Topaar feufHmanfur ao= v

4. e FFE/aol 9o dEif

Options :

92090699405. 1
92090699406. 2
92090699407. 3
92090699408. 4

Question Number : 53 Question Id : 92090625158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following material shows the highest value of index of irregularity
1. Draw sliver
2. Roving
3. Yarn
4. Carder Sliver

Options :

92090699409. 1
92090699410. 2
92090699411. 3
92090699412. 4

Question Number : 53 Question Id : 92090625158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafaa el siFaftaar gaeis & sitead 7F & guid gl
1. B TR
2. g
3. EAH
4. Piax Raar/yfd gt

Options :
92090699409. 1
92090699410. 2



92090699411. 3
92090699412. 4

Question Number : 54 Question Id : 92090625159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 'Gill Draw' technology 15 used 1n the processing of
1. Wool fibre
2. Cotton fibre
3. Visuals fibre
4. Polyester/Cotton blend

Options :

92090699413. 1
920906994 14. 2
92090699415. 3
92090699416. 4

Question Number : 54 Question Id : 92090625159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g1 Uit &1 3ugm & Y] H BT S @
1. Gl W (BIEeR)
2. gt =
3. fowa
4. Uleluse /el aiia

Options :

92090699413. 1
92090699414. 2
92090699415. 3
92090699416. 4

Question Number : 55 Question Id : 92090625160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The approximate diameter in mm 0 & 40° NP carded varn is
1. 0.104
2. 0.143
3. 1.10
4. 0.895

Options :

92090699417. 1
92090699418. 2
92090699419. 3
92090699420. 4

Question Number : 55 Question Id : 92090625160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

405 NP ®TS S di (UfFd ) BT TR TRTH forefidiex gia 81
0.104
0.143
1.10
0.895

-l L LS

Options :

92090699417. 1
92090699418. 2
92090699419. 3
92090699420. 4

Question Number : 56 Question Id : 92090625161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The yvarn is pushing over a multiplicative type tensioner with an angle of
wrap of 90°. If the input varn tension is 100 CN and the coefficient of
friction between the yvarn and tension 1s 0.2. The output tension of yarn
in 'N' accurate to two decimal places.

1. 1.425

2. 1.369

3. 1.400

4. 1.265

Options :
92090699421. 1
92090699422. 2



92090699423. 3
92090699424. 4

Question Number : 56 Question Id : 92090625161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol G P U UATHS UHR & ¢R-R I ORI WA ¢ o1 a1 &1 H10
90° g1 Afe 3Age,/ufaf® T-/93 d-1d 100 CN & 3R G qUT T=FR & dlg g8
Ul 0.2 §, ol Y3 & 3i13eye/Fifa a/d 'N' §

1. 1425

2. 1.369

3. 1.400

4. 1.265

Options :

92090699421. 1
92090699422. 2
92090699423. 3
92090699424. 4

Question Number : 57 Question Id : 92090625162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the speed of bottom shaft in rad/sec if the speed of erank is
400 rpm:

1. 6.6 n/sec

2. 6.5 n%sec

3. & n¢/sec

4. 4.5 n®/sec

Options :

92090699425. 1
92090699426. 2
92090699427. 3
92090699428. 4

Question Number : 57 Question Id : 92090625162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WW{H@UW} 1 7Tfd &1 rad/sec H Udl TNST, gfe e &1 91d
400 rpm g

1. 6.6 n%/sec

2. 6.5 n%sec

3. 5n%<ec

4, 4.5 n/sec

Options :

92090699425. 1
92090699426. 2
92090699427. 3
92090699428. 4

Question Number : 58 Question Id : 92090625163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a flat bed knitting machine, the loop length is controlled by,
1. Cleaning can
2. Changing guide bar can
3. Stitch can
4. Rising can

Options :

92090699429. 1
92090699430. 2
92090699431. 3
92090699432. 4

Question Number : 58 Question Id : 92090625163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U WiT 98 15 &1 A § U avarg & gRI Fafd gidi &
1. & &l dad P
2. MEE AR & &1 98
3. g &
4. T (9 &ud) HA

Options :
92090699429. 1



92090699430. 2
92090699431. 3
92090699432. 4

Question Number : 59 Question Id : 92090625164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inereasing in tapper anyle on sectional warping machine (drawn) will
normally require

1. Higher warping speed

2. Lower warping speed

3. Decrease in traverse speed

4. Increase in traverse speed

Options :

92090699433. 1
92090699434. 2
92090699435. 3
92090699436. 4

Question Number : 59 Question Id : 92090625164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR/ 4] AT FH (1) TR CUR $10] &1 dgH & ol a3
@ g™Hal gl gl

IR G I

. YR amrER =

. YR 91 H HH1

. A H g

Options :

92090699433. 1
92090699434. 2
92090699435. 3
92090699436. 4

F T

Question Number : 60 Question Id : 92090625165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Size add on does not depends on,

1. Drying cylinder temperature
2. Size paste concentration

3. Machine Speed

4. Roller Hardness

Options :

92090699437. 1
92090699438. 2
92090699439. 3
92090699440. 4

Question Number : 60 Question Id : 92090625165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fergaror @rge) H gfg feg W R 98 el 82
1. Y&FA 904 (81371 [dieY) & d9aHE WY
2. 90 au (@9 U%) & Jradl I
3. HYH & 9/d W)
4, TR & HSRAT W

Options :

92090699437. 1
92090699438. 2
92090699439. 3
92090699440. 4

Question Number : 61 Question Id : 92090625166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A two ply varn has a resultant of 205 Ne. Assuming 10% twist
contribution during twisting, the yarn count (Ne) of single yarn used for
ply twisting was

1. 365

2. 44.4

3. 30.5

4. 40.4

Options :
92090699441. 1
92090699442. 2



92090699443. 3
92090699444. 4

Question Number : 61 Question Id : 92090625166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U& &l WIS & G (A1) B Reee</aRomdt 20° Ne g1 T84 & SR 10% a4
Hgpe &1 HFQ g, WS fauicT/da+ & Ued G 1 3 B3 fbe (Ne) UT?
1. 36.5

2. 444
3. 305
4. 404
Options :
92090699441 1
92090699442, 2

92090699443. 3
92090699444. 4

Question Number : 62 Question Id : 92090625167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A poly propylone cord has estimated breaking length of approximately
60 km 1n air, The estimated breaking length of the cord in water would be,

1. 180 km
2. o

3. 60 km
4. 0km

Options :

92090699445. 1
92090699446. 2
92090699447. 3
92090699448. 4

Question Number : 62 Question Id : 92090625167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Ui $13 (YA®) B SFHIAT HoA darg arg J TTHT 60 km €,
B DI o H SHIG HSH darg 91 g

1. 180 km

2 e

3. 60km

4, 0 km

Options :

92090699445. 1
92090699446. 2
92090699447. 3
92090699448. 4

Question Number : 63 Question Id : 92090625168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 'creep’ in the fiber is due to it's
1. Crystalline behaviour
2. Viscoelastic nature
3. Plastic nature
4. Weaving behaviour

Options :

92090699449. 1
92090699450. 2
92090699451. 3
92090699452. 4

Question Number : 63 Question Id : 92090625168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W H oY IHS & HRUBA @ :
1. Topeediiy 3=
2. Tl TR (Aeaigafe®) udbid

3. WRed (o) Ui
4, 1S DI UPR

Options :
92090699449. 1
92090699450. 2



92090699451. 3
92090699452. 4

Question Number : 64 Question Id : 92090625169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 fibers were tested for maturity. The normal (N) and thin walled (T)
fibers were found to be 50 and 10 respectively. The maturity ratio of fiber is:

0.80
0.65
0.75
0.60

R

Options :

92090699453. 1
92090699454. 2
92090699455. 3
92090699456. 4

Question Number : 64 Question Id : 92090625169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 YT (BIEEH) B Ushdl & oQ 1" 3 115 | WHF (N) 3R udat fif ad
IR HH: 50 3R 10 UTE Y| I T U&Hal UM & ;

0.80

0.65

0.75

0.60

ool

Options :

92090699453. 1
92090699454. 2
92090699455. 3
92090699456. 4

Question Number : 65 Question Id : 92090625170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The characteristic wave form produced by light scattering by indivadual
fiber in an AFIS instrument 1s:

1. Spiked

2. Triangular

3. Rectangular

4. Eliptical

Options :

92090699457. 1
92090699458. 2
92090699459. 3
92090699460. 4

Question Number : 65 Question Id : 92090625170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AFIS IS0 H U Y9 GRI U1 & TP gRI1 304 814 arell a2y a3
UHR Bl 8l

1. WEHs/HicaR

2. faeH!

3. AR

4. 3SHR
Options :
92090699457. 1
92090699458. 2
92090699459. 3
92090699460. 4

Question Number : 66 Question Id : 92090625171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: A twisted rope of same diameter made up of jute fiber is not
suitable for climbing high altitude hills where as the nylon rope can be used
for the said application.

Reason R: The jute fiber is stronger but it 15 rigid and brittler than nylon
also the elongation at break of jute fiber is lower than that of nylon.

In the hight of the above statements, choose the eorreet answer from the
options given below.

1. Both A and R are true and R is the correct explanation for A
Both A and R are true but R is NOT the correct explanation for A
A is true but R 15 not false

A is not false but R is true

o

Options :

92090699461. 1
92090699462. 2
92090699463. 3
92090699464. 4

Question Number : 66 Question Id : 92090625171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 &1 HyA U T §: 3HTUHYA (Assertion A) & FU H feifdd € o g1 HRU
{Reason mﬁﬁmﬁ;

SHTHHYA A: 5 T B 91 TR Ugrsl R deA & o Iugad =gl gidl, Sefd
T R dTell A $1 &1 IR0 39 S & e 3uged gl g
HRU R: §E T I e TAolgd 8ial ¢ a1 4 Arsai- 3 it o (e
3R IR BId1 8, WY &1 SE & X & U R S0l A3 & 39 4 &gl dH
gl gl
IR HYH & 3frdied H, A f¢U U fas el ® 8 ¥&d Iugad IR &1 9949
Doy

1. AR RIH TS 3R R, A B TS AT

2. AR R 98§, df R, A B UE ArsA T8 ¢

3. AT R AFTR OB T R

4. AGE Rl ¢ Afb R TET ©

Options :

92090699461. 1
92090699462. 2
92090699463. 3



92090699464. 4

Question Number : 67 Question Id : 92090625172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R
Assertion A: High pressure squeezing on sizing machine leads to higher
ratio of production.
Reason R: Interruption in production process caused by thread break
ete, are lesser in high pressure squeezing system.
In the light of the above statements, choose the correct answer from the
options given below.
1. Both A and R are true and R is the correct explanation for A
2. Both A and R are true but R 15 NOT the correct explanation for A
3. Ais true but R is not false
4. A is not false but R 1s true

Options :

92090699465. 1
92090699466. 2
92090699467. 3
92090699468. 4

Question Number : 67 Question Id : 92090625172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &1 Sy U U B: 3B YA (Assertion A) & U H ffd g ol GO RU
(Reason R) HIUH

YA A "R (Faamu) neiF R 3= oE Aefisa d g e e §
AT Bl g |
PRI R: YF WSH 33 &F R IAE H g1 arel =<Ra, 3= o/ Fediga
Ul H SHEd & |
IRl HYF & 3fiairs #, 41 U 7e fawedl # 4 9ad Iuge IR &1 994
Difan

1. A SRR U8l € 3R R, A &1 TEl AR &

2. A SRR HE T, AP R, A B A TSN TE &

3. ATEIR AfFT RO TET R

4. AGEITEI e OB R TG ®

Options :

92090699465. 1
92090699466. 2
92090699467. 3
92090699468. 4

Question Number : 68 Question Id : 92090625173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R
Assertion A: On 'Air-flow' instrument for testing of fiber fineness of
given variety of cotton fiber, the air resistance of fine cotton fiber is
higher than that of coarse fiber.
Reason R: The Higher air resistance for fine fiber is because of low air
supply at the time of testing.
In the Light of the above statements, choose the eorreet answer from the
options given below.

1. Both A and R are true and R is the correct explanation for A

2. Both A and R are true but R is NOT the correct explanation for A

3. A is true but R is not false

4. A iz not false but R is true

Options :

92090699469. 1
92090699470. 2
92090699471. 3



92090699472. 4

Question Number : 68 Question Id : 92090625173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12 g1 Py AU 70 §: iU (Assertion A) & w0 H feifed g o guRI HRUI
(Reason R) & ¥U fl';
Y A: fbdt fqU U foeet & Y T &1 91 UdTE’ (T4 Uedl) SUB0 9
T AT (BIEER BIE-4) B 6fd 3 W G4 I 18 31 ary uiaiedsdr
A Y FI a1 vy A 4 g 81
HRU R: Y&H I & el IR I WfcRiudhal siid/adiau & 998 &1 a1y
3Myfd & SR Erdl 81
SWRIdd $YA & 3l H, A1 fSU 70 fas el 7 4 9ad IJuged I &1 994
ifo

1. ARREH TSI E MR R A DI TSI AT &

2. A SRR EHI 98l § Al R, A B U! oA ol 6

3. AGEIg AP R WS el &

4 AGETEIEAFTIR TS B

Options :

92090699469. 1
92090699470. 2
92090699471. 3
92090699472. 4

Question Number : 69 Question Id : 92090625174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R
Assertion A: Although in a multiphase wearing. the energy consumed
per square meter of fabric produced is higher than that of modern air-jet
10 em, the productivity is also 2 to 3 times higher.
Reason R: There are many Oscillating components in a multiphase 100
m causing high energy consumption. However the shed turning roter
rotates continuously at an even speed and 4 picks are inserted at any
instant.
In the light of the above statements, choose the eorrect answer from the
options given below.

1. Both A and R are true and R is the correct explanation for A

2. Both A and R are true but R 18 NOT the correct explanation for A

3. Ais true but R is not false

4. A is not false but R is true

Options :

92090699473. 1
92090699474. 2
92090699475. 3
92090699476. 4

Question Number : 69 Question Id : 92090625174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 HYA AU MU §: HHY (Assertion A) & F9 H [IREd & ol g8 HRUI
(Reason R}?Wﬁ;

HUFHYF A: g0 &g TROT 954 (Hee b fafdw) d [ g ard ufa @ diex
% § IUUNT §3 Sl SMEfAd TER-GT O &1 SHoll 9 U gl 8, afd
Iagadr Ui 2 9 3 71 Sifde gl B

HRUT R; FEERY (Heeibo) H H 3 SIagHH JUed gid ¢ forad st
el SUHF Bl & | g9l D e Iex FReR JuH 9rd | 9o EdT & 3R
faHl SXT (instant) W 4 e RSP v o1 9&d €1

JUE HYH & 3Meie |, A f3u U faw el | 8 ¥&d Iuged IO &1 999
Sifore

A 3R R I UE & SIR R, A F1 T 1= B

A SR REH T8l § AP R A & U RSN 81 &
ATE & afdA R ud AT 2

A E 781 & Afp R 9T B

Options :
92090699473. 1

W o



92090699474. 2
92090699475. 3
92090699476. 4

Question Number : 70 Question Id : 92090625175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

siven below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R
Assertion A: Anthraquinin based disperse dyes dyed on polvester fibre
fabric at 130° C from an aqueom dispersion of dve.
Reason R: The disperse dye is partially soluble in water during dyeing
at 130°C and it is the dissolved dye that is taken up by the polyvester fibre
during dyeing.
In the light of the above statements, choose the eorreet answer from the
options given below.

1. Both A and R are true and R is the correct explanation for A

2. Both A and R are true but R is NOT the correct explanation for A

3. Ais true but R is not false

4. A is not false but R is true

Options :

92090699477. 1
92090699478. 2
92090699479. 3
92090699480. 4

Question Number : 70 Question Id : 92090625175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 1 Sy AU T B: SN YUA (Assertion A) & ¥U H i@ € o g8 SR
(Reason R}%Wﬁ;

YT A: TS i uREd I6d] &1 o & o UsioH § 130° C
TR Ui 38 & a%d B TS 1 TS |

HRO R: IR TP 130° ¢ R TS & GG Tl H +fAd &Y J gya2iid gidl
© SR 4 Yl g1 397 &1 & o 1 & 99y Uiciioees 39 gR1 Ugvl faar Sl
gl

IR FYH & el H, A G 0 fasedl 7 9 ¥&d Iugead IR &1 994
i

A 3R R HE1 € SR R, A 1 Hdl RS &

A 3R R &HI G561 8, A R, A ] 981 e 761 ¢

ATE 2 AfPTR TE TR

ATEI T R AT R UET R

B

Options :

92090699477. 1
92090699478. 2
92090699479. 3
92090699480. 4

Question Number : 71 Question Id : 92090625176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the
other is labelled as Reason R
Assertion A: It 15 said that, the draw frame adds irregularity in the
material of given hinear density. The irregularity introduced in the
material 1s considered as periodic irregularity.
Reason R: The irregularity introduced in the material is proportional to
the number of drafting rollers used on machine.
In the light of the above statements, choose the eorreet answer from the
options given below.

1. Both A and R are true and R is the correct explanation for A

2. Both A and R are true but R 15 NOT the correct explanation for A

3. Ais true but R is not false

4. A is not false but R is true

Options :

92090699481. 1
92090699482. 2
92090699483. 3



92090699484. 4

Question Number : 71 Question Id : 92090625176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁmﬁqn&%za{f“uam:rq,qgsenionmaﬁmﬂﬁ‘f@a%amw
(Reason R) @ &4
SHHPHYF A: THI H81 o71d] & & ST I U U 3G s g4 &t amadd
Sifraftraar sgrd € anrdt & wHrafRa g arelt sifafiraar ot smadf
it JFT S B
HRU R: UIEA & qHTafi 8F arell sifFafiaar o=t ¥ Sudn fu e gt
AeRT 1 T & FHEU gldl g |
JURIHI HYH & el H, A f4U 70 faeedl & 9 ¥&d Iugad IR &1 999
1. AR RTHIUE € 3R R, A Bl TSI ARAT 8
2. A 3R REH S E, AfA R, A B €l e A8l @
3. ATEIg AfBAR TGl Al &
4. AGSIAEI g AP R TEI

Options :

92090699481. 1
92090699482. 2
92090699483. 3
92090699484. 4

Question Number : 72 Question Id : 92090625177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R
Assertion A: The viscosity of the solution of sodium cellular
xanthate first decreases and then increases during the process of
ripening an important unit operation of viscose manufacturing.
Reason R: The viscosity initially decreases because of dexanthation and
then uses as the distribution of xanthane groups along the cellulose
molecule becomes more uniform with time.
In the light of the above statements, choose the eorrect answer from the
options given below.
1. Both A and R are true and R 15 the correct explanation for A
2. Both A and R are true but R is NOT the correct explanation for A
3. Ais true but R 15 not false
4. A is not false but R is true



Options :

92090699485. 1
92090699486. 2
92090699487. 3
92090699488. 4

Question Number : 72 Question Id : 92090625177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 21 Sy U T B: 3MfUBYA (Assertion A) & ¥4 U f[AREd € O GO HRUI
(Reason R) E7) Wﬁ;

P YF A TifeaH VA o & fdag @) Ll Ul & Uihdl & 99y
Ugd FHH gl 3R R Jgdl @ - S faweig i &1 v weayyl s@1 wae
gl

BRI R: JYF! SR H SIOUH & SR HH gl 8 3R B 90y & 9y

o S T T Aqard AU H fGar siftfe teey g o IR Eg Id 3
JUIE $YF & 3feiid |, A fGU U fasedl # 8 ¥ad Iugad Ik &1 994

Bify

A 3R R I UE & STR R, A P 9 e 8

A 3R REFT U8l § AfFT R, A B U8 RS 81 &
AUE 2 Afba R B8 AT &

ATE TSI AP R WS §

Options :

92090699485. 1
92090699486. 2
92090699487. 3
92090699488. 4

Bowopg oo

Question Number : 73 Question Id : 92090625178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements fibre shinkay during heat setting
leads to.
A. Disorientation of amorphas regions
B. Increase in crystalline orientation
C. Increase in erystal perception
D. Decreases in erystallinity
Choose the correct answer from the options given below.
1. BCD
2. BC
3. ADC
4. ABC

Options :

92090699489. 1
92090699490. 2
92090699491. 3
92090699492. 4

Question Number : 73 Question Id : 92090625178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁgﬁ@a%ﬁ;wm:mmﬁfmémﬁwmﬁﬁ q
______ ®dIsl
A, Sifcheedila &l &1 srufd=am
B. foredl faum # gfg
c. fored Mg # 9fg
D. fortedigar & &4t
414 fau 1 faed] 1 9§ Ul I’ &1 994 Hifeu -
1. BCD
2. BC
3. ADC
4. ABC

Options :

92090699489. 1
92090699490. 2
92090699491. 3
92090699492. 4

Question Number : 74 Question Id : 92090625179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following options on ring spinning machine
A. Twist in the ring spinning machine 1s "True Twist'
B. Condenser is positioned on ring which impacts the twist
C. Ring frame has elivated drafting system
D. Ring varn gives hairy varn because of spinning triangle.
(CChoose the correct answer from the options given below.

1. ABC

2. ACD

3. BCD

4. BDE

Options :

92090699493. 1
92090699494. 2
92090699495. 3
92090699496. 4

Question Number : 74 Question Id : 92090625179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 RufiT (g agm) aeie R FofaRaa el ® fdar s
A. Ton i aei= # 817 arell U arafas UaH gl &
B. He=N qad W [&yd Igal & ol U UgH ol &
c. f1ipm & 39d iy Ren gl g |
D. T oM @ag dq) Afae dq & & Fife 35+ B s 21
19 fau U faseul ¥ @ wel IR &1 99 Do :

1. ABC
2. ACD
3. BCD
4. BDE
Options :
92090699493.
92090699494

92090699495.
92090699496.

AW N =

Question Number : 75 Question Id : 92090625180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In connection with abrasion testing of fabries higher to value of abrasion
resistance can be attributed by -
A. Lower top pressure on fabric
B. Lower fabric tension
C. Higher fabric compressibility
D. New abrading surface
Choose the correct answer from the options given below.
1. BCD
2. ABC
3. ACD
4. BC

Options :

92090699497. 1
92090699498. 2
92090699499. 3
92090699500. 4

Question Number : 75 Question Id : 92090625180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I B gy Sig F Yo | sryeeur ufoRiysdr &1 3= 5F
& HRU e BT g |
A 3% TR &H I 29
B. &H a% g9
C. IR I gdieaar
D. T3 3ugd| gag
1< fau U fawed] § € 9El IR &1 994 S
1. BCD
2. ABC
3. ACD
4. BC

Options :

92090699497. 1
92090699498. 2
92090699499. 3
92090699500. 4

Question Number : 76 Question Id : 92090625181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 100% polyester fabriec was treated with optical brightening agent

(stilbene derivatives) and quality control group found that fabrie shows
uneven whitering effect

A. Palyester fabric before treatment many not be given heat setting
treatment

B. Development of brightness needs temp 130 to 140° C and 30 sec dwell
time

(. On status machine pin stanting may not be adoptable

D. Padding roll may have uneven pressure

Choose the correct answer from the options given below.
1. A,B,CandD

2. Aand D only
3. Band C only
4. Cand D only

Options :

92090699501. 1
92090699502. 2
92090699503. 3
92090699504. 4

Question Number : 76 Question Id : 92090625181 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 100% UIeTeR 9% S YHIRE YHNEA SHS 930 958 - 9l 6 3w
SIIHT A WHTd Il 8
A. TR 9% &1 SUTR ¥ Ugd YHdd: ad RRY Iu=R A8 fear i 41
B. SIZC-R/UHNS & fadra & o 130 | 140° C & AU &1 30 Y8 &l
arg 3faf F o snawmdar g &
C. W= e W O Wiz @ & dyad: T8 sa-mn o
D. UfEW I &1 IHAd: THA 19 Ul
14 feu U fawedi O © wel 3wk &1 9u Sifor
1. BAAA, B, C3R D
2. HIAA AR D
3. $aAB 3R C
4, HAAC 3R D
Options :
92090699501. 1
92090699502. 2

92090699503. 3
92090699504. 4



Question Number : 77 Question Id : 92090625182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements with respect to carting machine
A. Carding removes the hooks in the fibers
B. Sunface speed of cylinder 1s higher than that of doppler
C. Planning eficiency of carding is depends upon the rush content in the
tuft
D. Udercuring waste under the doppler is higher than this lickor-in
Choose the correct answer from the options given below.
1. BC
ABC
CD
ACD

[EoN o ]

Options :

92090699505. 1
92090699506. 2
92090699507. 3
92090699508. 4

Question Number : 77 Question Id : 92090625182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DitaT AL & He # Fafaied sy R fGaR $ifou :
A. DS (YTS) A H I g A oa §
B, dad (FRifersy) ®! Udg 919 SweR &1 9ra ¥ offés gidl &
C. BT 1 e gard 1% (@®) § #=R &) A W A ad ¢
D. STwR & 1a SH UfRIy S 7 iR &d &1 °HEl 9 S gl 8
14 fau o faedl & 9§ wel 3T &1 994 ST

1. BC

2. ABC

3. CD

4. ACD

Options :

92090699505. 1
92090699506. 2
92090699507. 3
92090699508. 4

Question Number : 78 Question Id : 92090625183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Blend dyeing of PET/Cotton (67/33) was carried out using Dispense and
Reactive dyvers in medium red shade. Following thing are ohserved with
repeat to uneven dyeing
A. PET/Cotton blend fabric may not have heat set of 1s polyester part
B. During polyester dyeing in jet dyeing machine a liquor ratio was not
maintained
C. Choice of dyes of same tone and color value was not choses
D. Reactive dyved component is not fixed with suitable concentration of
salt and alkali
E. Cotton part of blend is not managed upto standard level
Choose the correct answer from the options given below.
1. ABCDE
2. ABC
3. CDE
4. ACE

Options :

92090699509. 1
92090699510. 2
92090699511. 3
92090699512. 4

Question Number : 78 Question Id : 92090625183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PET/®IeA () (67/33) BT Mf¥d TS wegw ora 377 & uRkad &R

sifuferareiia &g & Iuam § &1 715 4| 3uH SHE IS & e |

Frafafeg ad 35 s -

A. PET/&IeA () sova/afmifsd a% T Yydd: 39 UIeivie’ HH & fae ag
fRR0T 71 gt T

B. Sl WIS TRIA H UiefitRex &l S5 & W0y gd HUTd &l e8] a8 161 7141
T

C. §HM EF/auf 3R T HH & TS| &1 79 el faan a7 T

D. HHOIHRI IoTd Ued $ A0S 991 &R $i 3fd Wrsdl & 91y Ruiia
el fdbar 1 A

E. Cotton part of blend is not mesmerged upto standrd and lerol
A feg g fasedt 7 | el IR &1 95 Fifor -

1. ABCDE

2. ABC

3. CDE

4. ACE

Options :

92090699509. 1
92090699510. 2
92090699511. 3
92090699512. 4

Question Number : 79 Question Id : 92090625184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 100% woven cotton fabrie 15 suspended for single colour dyeing on
Jigger dyers machine using vat dyver when the fabric was for drying on
stenter. Following observation was noticed that warp year looks erenly
dyed with dark shade
A. Fabric was periodically found dark shade dyed on sweft in regular
interval upto certain mterage
B. Possihility of insertion of immature yarn directly loaded from
spinning department
C. Immatured yarn absorbed more dye due to the uneven cell growth
D. Warp varn of fabric found even dyening
{‘hnnae the correct answer from the options given below.
. ABD
2. ABC
3. BCD
4. ADC

Options :



92090699513. 1
92090699514. 2
92090699515. 3
92090699516. 4

Question Number : 79 Question Id : 92090625184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U& 100% 9 §U Yol 9% &1 R 3187 Hefi WR 3T T&d! &1 IudRT @d §U

UH 31 &1 TS $ o Feifad o 7 od 3% &1 ) WY& & fou 3an

<1 Fafafad Dam fasgr o i aF & dd @) 3 tSaEE Y 3 TR T3t

o &t

A G U1 3M1adl &9 J T8 11 B T 91 7 A siorrdl R 8 diex
% UTg T3

B. Tdls [AHT ¥ WHTd: U og P e A=A T 4R U1

C. 3Us dd 7 P TP B G A HIRAD] gig & BRI a1

D. 9% &1 aFI dd THM TS &1 Urg1 11 o1

e feu e faeeui d ¥ wel 3w &1 90+ Bifoe

ABD

ABC

BCD

ADC

A

Options :

92090699513. 1
92090699514. 2
92090699515. 3
92090699516. 4

Question Number : 80 Question Id : 92090625185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A flow of 100% cotton fabric processing sequence is given below

(Chemical processing up to dyeing)

A. Grey fabric — Singeing — Desizing — Bleaching — Mercerization —
Dyeing

B. Grey fabric — Desizing — Singeing — Bleaching —
Mercerization — Dyeing

C. Grey fabric — Bleaching — Desizing — Singeing —
Mercerization — Dyeing

D. Grey fabric — Singeing — Bleaching — Desizing —
Mercerization — Dyeing

(Choose the correct answer from the options given below.
1. Aonly
2. Bonly
3. Conly
4. D only

Options :

92090699517. 1
92090699518. 2
92090699519. 3
92090699520. 4

Question Number : 80 Question Id : 92090625185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100% il T¥d & UeHHU] S H & Udlg BI TS & @R aF - e mar g

C. 3ufvspd a%d— faieH — ﬁf%ﬁam

D. SURShd 3% — ﬁg;ﬂmﬂ zﬁh‘imw_*w%
:ﬂﬁﬁqwﬁﬁaﬁﬁ Hﬁmﬁmaﬂﬁq

. had A

2_ EL:

3. #adcC

4, &aAD

Options :

92090699517 1
92090699518. 2
92090699519. 3
92090699520. 4



Question Number : 81 Question Id : 92090625186 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Beal sorter curve of cotton fiber prepared for getting the essential
parameters of the same

A. This 15 helpful for knowing the mean length

B. It gives idea about the effective length and % of short fibres
C. It gives '53" value of fibre

D. It gives idea of upper quartile mean length of fibre
Choose the correct answer from the options given below.
1. A. B. D only
2. Cand D only
3. Band D only
4. Aand D only

Options :

92090699521. 1
92090699522. 2
92090699523. 3
92090699524. 4

Question Number : 81 Question Id : 92090625186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl ¥ &7 fqar G 9o W & 3ffard uraal &) Ui &3 o fere [Afa faan
|

A. U8 WY TS J1d &3 § 9S8
B. Ug UUId! dars 3R % &Y 2 & fawg § 5drd1 8
C. G HI's3 AF A &
D. U8 W & HW| Igde U owars & [qug & adrdi g
1 fou U fawedi | | 9el IR &1 994 Sl

1. Hdd A, B, D

2. HAACSRD

3. PAAB 3RD

4, PAAASRD

Options :

92090699521. 1
92090699522. 2
92090699523. 3
92090699524. 4



Question Number : 82 Question Id : 92090625187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements with respect to ‘FAST technique for
assessing the fabrie properties :

KES — FB1 — Bonding properties of fabrics

KES — FB2 — Measures the synergy and tensile properties

KES — FB3 — Measures the compressional properties

. KES — FB4 — Measures the surface friction and its variation

A and B only

B and D only

C and D only

A and D only

Options :

92090699525. 1
92090699526. 2
92090699527. 3
92090699528. 4

ELONEOOER

Question Number : 82 Question Id : 92090625187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A & U & Heid & (AU 'FAST' dd-iie & day §f Fgfifad syl w
faR Sifo :
A. KES-FB1 - G%d1 & deM 100
B. KES-FB2 - 3 $elg 3R o= 0N &1 HIYH Hdl &
C. KES-FB3 - ¥Utg & Uil &1 A9 &l &
D. KES-FB4 - Y¥TY TUy 3R I8! fHzal &1 HIY &l |
1 fau 7 fasmedl 7 § ¥el IR &1 94 S ;
1. $d A 3R B
2. HAAB IR D
3. HadC3HRD
4. HAAASRD

Options :

92090699525. 1
92090699526. 2
92090699527. 3
92090699528. 4

Question Number : 83 Question Id : 92090625188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Spin finish is applied during melt spinning of multi filament yarn just-
after quenching using dipping roller techinque. The 1deal composition of
spin finish
A. Lubriecant, Emulsifision and corrosion inhibitor
B. Lubricant, Antistatic agent
C. Lubricant, PH sensitizer and corrosion inhibitors
D. Lubricant, Antistatic agent, Emulsifer, PH sensitizer and
corrosion inhibitors
E. Antistatic Agent., Emulsifer, PH sensitizer and corrosion inhibitors.
Choose the correct answer from the options given helow.
1. Donly
2. Aonly
3. Eonly
4. B & C only

Options :

92090699529. 1
92090699530. 2
92090699531. 3
92090699532. 4

Question Number : 83 Question Id : 92090625188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o i (e or uitersst) &1 SUdnT Tee Ui & wHy 983 g (Hee
fpei=< OF) & YA (@< & a1 g8 | (S IR aa-1e I [ o 81
o el & fom e TeH &
A. HED (slih0), SHRTPRS 3R H&RU s
B. Wed, Uiios $ris
C. HED, PH Hdad SR &R ud
D. We®, Ufarifae $H®, SHEERS, PH HagH 3R JeRul AYH
£ Ufqifds ove, sHElleR®, PH Hded 3R T&R
1 feu o fomedi d | |el IR &1 994 i -
1. &dd D
2. HAdA
3, dadE
4 PHAAB 3R C

Options :

92090699529. 1
92090699530. 2
92090699531. 3
92090699532. 4



Question Number : 84 Question Id : 92090625189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On plain shuttle loom, consider this following peints with respect to the
power consumption
A. Power required during picking depends on weave of fabric
B. Power required during picking depends on reed width
C. Power required during picking is proportioned with the number of
head shafts
D. Power required during the picking depends on the number of
cans/tappets.
Choose the correct answer from the options given below.
1. Bonly
2. A B & Conly
3. B& D only
4. A & D only

Options :

92090699533. 1
92090699534. 2
92090699535. 3
92090699536. 4

Question Number : 84 Question Id : 92090625189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@ Yed gH R, faed wray) Sudm & del # Fafafad ardl w faar sifen

A, 'ﬁﬁgmyﬁmwﬁwﬁﬁaﬂaﬁaﬁgﬂémﬁﬁ

&l
B. ‘Tufd T & 9Hg gz fasiell (Uiaw) 38 & T918r W AR & g
c. TafdT & g srawas fooi 88 e &1 HE & AU aidl &
D. ‘fufdr & JHY e faudl 9%/cue Bl He R MR evare
1 fau 7o faeedl | | "el It &1 994 S :

1. ®ddB

2. HAAA B3R C

3. HAAB 3R D

4 FAAAMID

Options :
92090699533. 1
92090699534. 2



92090699535. 3
92090699536. 4

Question Number : 85 Question Id : 92090625190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statement in the melt spinning of PET fiber.
A. Amaphas chips of varn shows high erystallinity
B. Low oriented yarn shows high erystallinity
C. Partially oriented yvarn shows high resistants
D. Fully drawn yarn shows high crystallinity than POY varn
Choose the correct answer from the options given below.

1. A& B only

2. Donly

3. B & Donly

4. A & C only

Options :

92090699537. 1
92090699538. 2
92090699539. 3
92090699540. 4

Question Number : 85 Question Id : 92090625190 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PET ¥X ® Hee U (Aee &ars) & e # Fefefea syl i) iR sl
A. PET & Sffipeediiy g srafte fhteeiad UeH &3d 8
B. 3ieq fa=uTRa dq 3= fsvediigar exiid & |
C. e ¥u F 3= 1 3= fbwediaar Toia €1

D. Yuia: ftfd dq POY dd &1 ga1 H 3ifiies heediaal g3 §)
:ﬁﬂﬁqmﬁaﬂﬁﬁﬂéﬁmﬁwaﬁﬁq

. PadA R B

2. &dd D

3. $AAB AR D

4, HIAA MRC

Options :

92090699537. 1
92090699538. 2
92090699539. 3
92090699540. 4



Question Number : 86 Question Id : 92090625191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With respect to choice of dyers machine for dyeing of 100% cotton & 100%
polyester choice of machines are selected from following (woven fabrie)
A. Jet dyeing machine, HTHD dyeing machine
B. Winch dyeing machine, Jet dyeing machine
C. Winch dveing machine, HTHP dyeing machine
D. Jet dyeing machine, HTHP dyeing machine and Jigger dyeing
machine
E. Wineh dyeing and Jigger dveing machine
Choose the correct answer from the options given below.
1. Aonly
2. Donly
3. Bonly
4. A & C only

Options :

92090699541. 1
92090699542. 2
92090699543. 3
92090699544. 4

Question Number : 86 Question Id : 92090625191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100% il 3R 100% UITCUER &1 W15 & g H, 7<= &1 997 Fafafea § 9
WETHT%’@HE‘J

ole WS HEiH, HTHD 118 7Y

aﬁfqlﬁaﬁmﬁmﬂq HTHP TS AIH

. G T HRE, HTHP TS H3fiF SR fopR g #eiF

e guie, R I AeiE
mmﬁﬁﬁﬁﬁﬂﬁmﬁmaﬁm;

. $dd A

ﬁmgﬁm}
gy

Options :

92090699541. 1
92090699542. 2
92090699543. 3
92090699544. 4



Question Number : 87 Question Id : 92090625192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:
Statement I: The annealing operation of thermoplastic fibres under the
tension shows inverse in the sonic modules.
Statement II: The annealing process inverse the crvstalline and
amaphas content in the fiber and this fiber playble during the processing.
In the light of the above statements, choose the most appropriate
answer from the options given below.

1. Both Statement | and Statement Il are true
Both Statement I and Statement 11 are false
Statement | is true but Statement 11 is false
Statement [ is false but Statement I is true

ol

Options :

92090699545. 1
92090699546. 2
92090699547. 3
92090699548. 4

Question Number : 87 Question Id : 92090625192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fE e wy RumE:
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HU |I: AR @1 uftar 39 7 ey SR siftheediiy i &1 0E &1 ggl

ot 8§ SR 3T YA UHHY & Y HH R (WSuad) 8 9l 8

SURIER HYF & 3Meied H, A1 3T U fadedl | 4 ¥&d Iugead T &1 994
1. FYF | RIS TS &

2. BYF | 3R 11 FH e §

3. &Y 9El 8, Afp U N AT &
4, YA | TeTd, e Y 1| TEl

Options :

92090699545. 1
92090699546. 2
92090699547. 3
92090699548. 4



Question Number : 88 Question Id : 92090625193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement I: With respect to white discharge printing on 100% polyester
fabric selection of ground colour 1s important since 1t should have
dischargebility value 4-5.

Statement II: Good white discharge printing of suitable ground colour 1s
only possible of dye from dispure group should be from agro group
structure and not anthaqugquinere based

In the light of the above statements, choose the most appropriate
answer from the options given below.

Both Statement | and Statement II are correct

Both Statement [ and Statement II are incorrect

3. Statement [ is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II 15 correct

oty

Options :

92090699549. 1
92090699550. 2
92090699551. 3
92090699552. 4

Question Number : 88 Question Id : 92090625193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAq HyF RRumu g
HU |- 100% TIelTER a6 W 4d faieq aurs (@5e e filfeén) & dau o
IR 1 &1 997 Heaqul 8, Fifd 39! fA¥e-igadl 9 4-5 8ia ¢
HY |I: IUGad SR 37 &1 331 4d fadaH Rk ot 9va § afe uRiadm ag
&1 I6P TUBHIFF T Tl Sicd TSl g §a-1 B8l
I $YH & el H, A 3T U fasw el 7 4 9&d Iugad IR &1 994
1. YA | 3R 11 I T B
2. Y1 3R |1 1 Ted §
3. YA | UE g, Wih HUA 11 7Tad §
4. YA | T4, AfeA HU || Bl §

Options :

92090699549. 1
92090699550. 2
92090699551. 3
92090699552. 4



Question Number : 89 Question Id : 92090625194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(iiven below are two statements:
Statement I: With respect durable press finish, a proper preparation is
important to achieve optimal performance where residual alkali will
deactivate the catalyst, Non-uniform wetting will cause uneven finish
pick up and result in unlevel finish effect.
Statement II: The durable press finish effect depends on chemical
reactions taking place in the fibre during curing and need to control
parameter such as concerntration, temperature and time of curing.
Excessive curing leads to increase loss of fabric strength and abracion
resistance,
In the light of the above statements, choose the most appropriate
answer from the options given below.

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement I is correct but Statement Il is incorrect

4. Statement I is incorrect but Statement Il is correct

Options :

92090699553. 1
92090699554. 2
92090699555. 3
92090699556. 4

Question Number : 89 Question Id : 92090625194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090699553. 1
92090699554. 2
92090699555. 3
92090699556. 4

Question Number : 90 Question Id : 92090625195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: The strength of pneumatically spliced joint of a single
cotton varn result out of the load bearing capacity of the largely parallel
fiber in the central section of the joint.
Statement II: The central section 15 surrounded by density clustered
group of fibers which are hightly twisted and intermingled. On
application of tensile load, these fibers slip and progressively grip the
central section tightly enhancing their load bearing capacity.
In the light of the above statements, choose the most appropriate
answer from the options given below.

1. Both Statement [ and Statement Il are correct

2. Both Statement [ and Statement Il are incorrect

3. Statement [ is correct but Statement Il is incorrect

4. Statement | 18 incorrect but Statement [1 is correct

Options :

92090699557. 1
92090699558. 2
92090699559. 3



92090699560. 4

Question Number : 90 Question Id : 92090625195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& @ By Ru o &

HY |- Y T I Haifera |9y sryar Ued Jd dd (@) 3w & gfvomy
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EIGIEe

HU |I: G Y 3= & o9 T4 F Tji=5d Yg gRI -1 381 & o faftd
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ITP1 HR 98 &Hdl 1 91 Ad 8|
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1. YT | 3R 1 1 e §
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Options :

92090699557. 1
92090699558. 2
92090699559. 3
92090699560. 4

Question Number : 91 Question Id : 92090625196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: The hardness of water in the pump on water jet weaving
machine should be always high to ensure the uniform jet velocity across
the given width of fabric.
Statement II: Hardness of water doesn't affect the weft on water jet
insertion rate of water jet weaving.
In the light of the above statements, choose the most appropriate
answer from the options given below.

1. Both Statement [ and Statement Il are correct
Both Statement [ and Statement [I are incorrect
Statement [ is correct but Statement 1l is incorrect
Statement [ is incorrect but Statement [l is correct

w0 N

Options :



92090699561. 1
92090699562. 2
92090699563. 3
92090699564. 4

Question Number : 91 Question Id : 92090625196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFd sy RTTE
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HY 1I; dTex oie a4 7L H 5 1 Ho Ral FH1 (M) SR d1ed i &
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JURIHd FYH & 3fadid H, A f3u 10 fasedl 7 9§ 9&s Iuged I &1 994
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4. YA | TTAd, Al HUF || U8t §
Options :

92090699561. 1
92090699562. 2
92090699563. 3
92090699564. 4

Question Number : 92 Question Id : 92090625197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: The random irregularity in the cotton fiber can be removed
100% on the draw frame machine by maintaining the draft ratio and auto
levelling action.
Statement II: Random irregularity in the cotton fiber can not be
removed 100% since it 18 a natural variation within it and that can not be
controlled during the processing.
In the light of the above statements, choose the most appropriate
answer from the options given below.

1. Both Statement | and Statement Il are correct
Both Statement I and Statement Il are incorrect
Statement [ 1s correct but Statement 11 15 incorrect
Statement [ is incorrect but Statement I1 is correct

B 90 1



Options :

92090699565. 1
92090699566. 2
92090699567. 3
92090699568. 4

Question Number : 92 Question Id : 92090625197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090699565. 1
92090699566. 2
92090699567. 3
92090699568. 4

Question Number : 93 Question Id : 92090625198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Direct dves in their behaviour towards net coverage are
most evident with those reps composed of immature fibres with some
secondary wall development.
Statement II: Direct dyes containing more than one amino or amide
group in there structure were found most likely to achieve relatively good
coverage of neps.
In the light of the above statements, choose the most appropriate
answer from the options given below.

1. Both Statement I and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement Iis correct but Statement 11 is incorrect

4. Statement [ is incorrect but Statement 1l is correct
Options :

92090699569. 1
92090699570. 2
92090699571. 3
92090699572. 4

Question Number : 93 Question Id : 92090625198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090699569. 1
92090699570. 2
92090699571. 3
92090699572. 4

Question Number : 94 Question Id : 92090625199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

siven below are two statements:

Statement I: Sizing of multiplication synthetic varn is carried out at low
size pick-up.

Statement II: To avoid the bowing effect generally sizing 1s comed out
for multi filaments synthetic yarns prier to weaving on high speed
weaving.

In the light of the above statements, choose the most appropriate
answer from the options given below.

Both Statement [ and Statement II are correct

Both Statement [ and Statement 11 are incorrect

Statement [ is correct but Statement 11 18 incorrect

Statement [ is incorrect but Statement Il is correct

e

-

Options :

92090699573. 1
92090699574. 2
92090699575. 3
92090699576. 4

Question Number : 94 Question Id : 92090625199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090699573. 1
92090699574. 2
92090699575. 3
92090699576. 4



Question Number : 95 Question Id : 92090625200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

LIST I LIST 11
Parameter Unit

A [Tenacity I. N -mm

B. [Yarn tension II. jgm/denier

C. |[Eliptication ITLICN/Tax

D. [Flactural Rigidity [IV.|% (Parentage)

1. A-IV. B-1, C- 111, D- 11
2. A-ILB-1, C- IV, D- 111
3. A-IL B-TIL, C- IV, D- 1
4. A-1L B-IV,C- 111, D- 11

Options :

92090699577. 1
92090699578. 2
92090699579. 3
92090699580. 4

Question Number : 95 Question Id : 92090625200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | 1 g 1 | e S

e | e !ﬂ;ﬁn%‘cﬁlé
ﬂﬁfﬂﬂm{élﬂi@éh MN-mm
a. dd videed/d-ma u. am/SY
C. [Erdi@Ru lII. JCN/2ed
D. |3 a1t Egd1 (weigaRd Rrsd)| Iv. [ @idem)
1. A-IV, B-I, C-lll, D-II
2. A-ll, B-l, C-IV, D-Il
3. A-ll, B-lll, C-1V, D-I
4. A-l, B-Iv, C-lil, D-Ii
Options :

92090699577. 1
92090699578. 2
92090699579. 3
92090699580. 4



Question Number : 96 Question Id : 92090625201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

LIST 1 LIST I

Dyved Cotton using type of dyes  |Faster behaviour
A.|Reactive dves on cotton [. [Poor light fastness

B. [Sulphur dves on cotton I1. |Poor rubbing fastness
C.|Basic dyes on cotton IT1.|Poor chlorire fastness
D.|Pigment prints IV |Good wash fastness

A-IV, B-1I1, C- 1, D- 11
A-11, B- 1, C- III, D- IV
A-1, B-1IV, C- 11, D- 111
A-II1, B- IV, C- 11, D-1

® o o

Options :

92090699581. 1
92090699582. 2
92090699583. 3
92090699584. 4

Question Number : 96 Question Id : 92090625201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y | 1 gl 1§ frdH s
Rt | NEill
gd B TS & [0 36d & USR [Tl SRl

A. [l a5 W siffehareiia I | 1. [3(ed UDT Ushdl (BREH)
B. Rl 9% R Hehy LoD 1. |afeq oy @ife) uear
C. [gcll 9% W &RS1Y I5d |11, |37 SeII Uebd
D. [aul (U< V. 3181 emaTgedl (a2 BRe-Y)
1. A-1V,B-1ll, C-1,D- Il
2. A-1l,B-1,C-1Il,D-1V
3. A-1,B-IV,C-1I, D-1Il
4. A- Il B-1V,C- I, D-

Options :
92090699581. 1
92090699582. 2



92090699583. 3
92090699584. 4

Question Number : 97 Question Id : 92090625202 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I

LIST I LIST 11

Spinning Tech Process Variables
A.[Rotor Spining I. [Double Rowing
B.BIRO Spining I1.|Back Doubling
C.IDREF - II Spinner [[IL[|Bi - Comparant Yarn
D.|Airjet Spinning [V [Index Twisting

1. A-L B-11, C- IIL, D- IV
2. A-IL B-1, C- 111, D- IV
3. A- L B-1L C- IV, D- III
4. A- 11, B- 1L, C- I, D- IV

Options :

92090699585. 1
92090699586. 2
92090699587. 3
92090699588. 4

Question Number : 97 Question Id : 92090625202 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | 1 g 1 | e s

%ﬂ{aﬂq Wllﬂﬁaﬁf

A. Riex g . [gaa Afdn/fg o

B. [sirO f&uF II. [d% safen

C. [prReF-n R | 111, [gR-duH= aH/fe-Hues d
D. [omR-uie Ruf | v, [pe syada/mre fgwes

1. A-l, B-Il, C-lil, D-IV

2. A-ll, B-l, C-llI, D-IV

3. A-l, B-ll, C-IV, D-Hl

4. A-lll, B-Il, C-I, D-IV
Options :

92090699585. 1



92090699586. 2
92090699587. 3
92090699588. 4

Question Number : 98 Question Id : 92090625203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with List 11

LIST I (Fiber Parameters) |LIST II (Specifications)
A.|Short fibers I |2.5%

B [Spin length I1.]12.5 mm
C.|Uniformity Ratio II}j<1

D. Maturity Ratio V|02t 1.2

1. A-1 B-1I, C- IV, D- 111
2. A-IL B-1, C- 111, D- IV
3. A-IV.B-1IL, C- 1, D- 11
4. A-III B- IV, C- 11, D-1

Options :

92090699589. 1
92090699590. 2
92090699591. 3
92090699592. 4

Question Number : 98 Question Id : 92090625203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | BT 1 ¥ e eifoe

g | gl |

GERIER [Fafamean

A. [T = . [2.5%
T Y 1. [12.5 mm

B.

C. [eEgdr sFu | 1l < 1
D.[U@ar oAU [Iv.[0.2t0 1.2
A- 1, B- I, C- IV, D- Il

A- 1, B-1, C- Il D- IV

A- 1V, B- I, C-1, D- 1l

A- 1L, B- IV, C- I, D- |

P b o8



Options :

92090699589. 1
92090699590. 2
92090699591. 3
92090699592. 4

Question Number : 99 Question Id : 92090625204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11
LIST 1 LIST 1T

Dyves type in fiber Fiber-dye entrance bonding

A. [Reactive dyes on cotton | . [Hydrogen binding

B. [Acid dyes on wool I1. [Covalent bonding

C. [Direct dyes on cotton [11}Solid solution mechanism

D. [Disperse dye on polyester|IV |Electostatic forces
1. A-1 B-1I1, C- IV, D- 11
2. A-TIILB-11, C- 1, D- IV
3. A-IV.B-1, C-1II,D- 11
4. A-11, B-1V, C-1, D- 111

Options :

92090699593. 1
92090699594. 2
92090699595. 3
92090699596. 4

Question Number : 99 Question Id : 92090625204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | 1 g 1 g e sifon

Nl sl

9 IR {Sld & UhR -6l SRl |
A. [bd R iufdardia 9@ | | g dud

3 UR 3 Yol || [edaisl deH

d IR Wd: o0 1. |61 faerg foranfafe
. [aeftezer iR uRidng o] 1v. fuasiids @a
A-1,B- I, C- IV, D- Il
A-1Il, B-1I, C- I, D- 1V
A- IV, B- 1, C- llI, D- Il
A-1l,B- IV, C-1, D-lll

o|0|e

Options :

92090699593. 1
92090699594. 2
92090699595. 3
92090699596. 4

Question Number : 100 Question Id : 92090625205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List T with List 1T

LIST 1 LIST IT

Different processing machines [Process adopted

A. H-box I. (Wool finishing

B. [Stenter I1. |Dyeing of polyvester

C. |Decatising II1.Drying and Heat setting
D. Het dyeing IV.|Continuous bleaching

1. A-IL B-1, C- 1V, D- 111
CACIVOB-IL C-LD- 1T
3. A-IIL B-1V, C- 111, D- 1
4. A-TIL B- 11, C- I, D- IV

]

Options :

92090699597. 1
92090699598. 2
92090699599. 3
92090699600. 4



Question Number : 100 Question Id : 92090625205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | 1 g 11§ A Sifoe

Gl =t

s UshHu JUH] SO 1 Uk H

A. |-gldd . |3 e (foefafamm)
B. =X II. [dieiise &1 Jg

C. [SlpergRin/amg deaH| 111, [Sh 3R a9 RR
D. [ole T&H Iv. PR e

1. A-IL, B-1, C-1v,D-1ll
2. A-IV,B-1Il,C-1,D-1I
3. A-1l,B-1IV, C-1ll, D- 1
4. A-IlILB-1I,C-1,D- IV

Options :

92090699597. 1
92090699598. 2
92090699599. 3
92090699600. 4



